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@ Alexandrium: 0
D. fortii: 0

D. acuminata: 20

Alexandrium: 20
D. fortii: 0
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Alexandrium: 0
D. fortii: 0
D. acuminata: 0

Alexandrium: 30 @
D. fortii. 0

D. acuminata: 0

Alexandrium: 10
D. fortii- 0
D. acuminata: 10 >
¢ @ Alexandrium: 10
Alexandrium: 30 ’ D. fortii: 0
D. fortii: 0 Y D. acuminata: 10

D. acuminata: 0
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& . Alexandrium: 10

D. fortii: 0
D. acuminata: 0
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A Alexandrium: 0
D. fortil: 0
‘& D. acuminata: 0

Alexandrium: 0
D. fortii. 0
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D. acuminata: 0 4@ EHE H 2016E4ﬁ 18~20H

% :4SE (4H18~20H) DFEELER

BETSVOM HEH Hla%/L)

REHS | KE ' Alexandrium Dinophysis e
D. fortii D. acuminata F DD Dinophysis
DT 11.29 324 20 0 60 0
QfAHE 1054 3343 0 0 0 0
BR=viR 10.77]  33.18 30 0 0 0
@& FiF 1051  33.58 0 0 0 0
OXEHEF 11.2] 3352 30 0 0 0
®ER 1053]  33.58 10 0 10 0
DEES 10.63]  33.66 0 0 0 0
®EE - - 10 0 0 0
(O =) - - 10 0 10 0
OXR - 0 0 20 0

¥ Alexandrium (XFREETER . D. fortikD. acuminata I FTHRIERBORE TS0 TY,

KIKER. BN TIUIRUIFIKIFEO~10 mOIEKRFEKIZKDF T ILOT—ETY,




_—_ Alexandrium (FRRE%L/L)

i OHEET QAR [(@-ViR |(DEHIF (OAXESHAGOSEIR (DEE |@&FE |ORIE
11H10H 360 70 0 0 160 0 0 - =
11H16H 1150 500 20 0 80 0 0 - -
11 H24H 790 790 10 50 40 30 0 = =
1281H 20 0 0 - = = - 0 0
1287H 20 0 0 0 0 0 0 - =
12H14H 50 0 0 0 0 10 0 - -
12A21H 210 0 0 0 0 0 0 = =

1H5H 230 0 0 0 0 10 0 0 0
20164E1H12H 10 0 0 0 0 0 0 - -
1H25H 50 0 0 0 10 0 0 - -
2H1H 110 0 0 0 0 0 0 0 0
2H8H 140 0 0 0 0 0 0
28178 60 0 0 - 0 0 0 - =
2822H 20 0 0 0 0 0 0 - -
3H2H 10 0 10 0 0 0 0 0 0
3A7H 0 0 0 0 0 0 0 0 0
38148 0 0 10 0 0 0 0 0 0
3822H 0 0 0 0 0 20 0 0 0
3H28~29H 0 0 0 0 0 0 0 0 0
4H5H 40 0 0 0 0 0 0 0 10
48128 20 0 0 0 0 0 20 = 0
4818~20H 20 0 30 0 30 10 0 10 10

;REAR D. fortii (ARE%R/L)

OEET QAR [(@Q-ViR |DEHIE OXEHEAGEIR (DEE |@FE |ORIE
118108 0 0 0 0 0 0 0 = =
11H16H 0 0 0 0 0 0 0 - =
11H24H 0 0 0 0 0 0 0 - -
12A1H 0 0 0 - = - = 0 0
12A7H 0 0 0 0 0 0 0 = =
12H14H 0 0 0 0 0 0 0 = =
128218 0 0 0 0 0 0 0 - -

1H5H 0 0 0 0 0 0 0 0 0
201641 H12H 0 0 0 0 0 0 0 = =
1H25H 0 0 0 0 0 0 0 - =
2H1H 0 0 0 0 0 0 0 0 0
2H8H 0 0 0 0 0 0 0
2H17H 0 0 0 0 0 0 0 = =
28228 0 0 0 0 0 0 0 = =
38282 0 0 0 0 0 0 0 0 0
3H7H 0 0 0 0 0 0 0 0 0
3H14H 0 0 0 0 0 0 0 0 0
38228 0 0 0 0 0 0 0 0 0
3H28~29H 0 0 0 0 0 0 0 0 0
4H5H 0 0 0 0 0 0 0 0 0
4812H 0 0 0 0 0 0 0 = 0
4818~20H 0 0 0 0 0 0 0 0 0

@mAR D. acuminata (HRE%(/L)

- DEE |(QB##A Q=i |(D&H#IE |OXSEACER |(OES |@%E [(9RE
11H10H 80 0 0 0 0 0 0 - -
11H16H 130 0 0 0 0 10 0 - -
11 H24H 290 10 0 0 10 0 0 - -
12A1H 170 0 0 - - - - 0 0
1287H 140 0 0 0 0 0 0 0 0
12A14H 140 0 0 0 0 0 0 0 0
12A21H 170 20 0 0 0 0 0 0 0

1H5H 1190 10 0 0 0 10 0 0 0

20161 H12H 280 30 0 0 0 0 0 - -

1825H 600 0 0 0 10 0 0 = =

2H1H 1580 10 0 0 0 0 0

2H8H 1330 30 0 0 0 0 0 =

28178 380 10 0 - 0 0 0 - -

2822H 640 10 20 0 0 0 20 = =

3H2H 1870 30 10 0 0 0 0 0 0

3A7H 1490 0 0 0 0 0 0 0 0

38 14H 580 10 0 0 0 0 0 0 0 0

3H22H 450 10 10 0 0 0 0 0 0 0
3H28~29H 300 10 0 0 0 0 0 0 0 0

4H5H 80 0 0 0 0 0 0 0 0 0

4812H 480 0 0 0 0 0 0 - 0 0
4818~20H 60 0 0 0 0 10 0 0 10 0




